	[image: image2.png]cbseﬁguess




	http://www.cbseguess.com/



Guess Paper – 2010

Class – XII

Subject – Computer Science (Theory-083)

Time: 3 hrs









Maximum Marks: 70

[image: image2.png]
General Instructions –

i. All questions are compulsory.

ii. Programming language C++. 
Q. 1 
(a) Illustrate the use of inline functions in C++ with the help of an example.


(2)

(b)  Name the header files to which the following belong: 




(1)
                         (i) random ( )      (ii) setw ( )
(c  Rewrite the following program after removing the syntax error(s) if any. Underline each correction. 

#include<iostream.h>









(2)
void main( )

{

One=10, Two=20;

Callme(One;Two);

Callme(Two);

}

void Callme(int Arg1,int Arg2)

{

Arg1=Arg1+Arg2;

Count<<Arg1>>Arg2;

}
(d) Find the output of the following program: 






(3)

#include<iostream.h>

#include<string.h>

#include<ctype.h>

void Convert(char Str[ ],int Len)

{

for(int Count=0;Count<Len;Count++)

{

if(isupper(Str[Count]))

Str[Count]=tolower(Str[Count]);

else if (islower(Str[Count]))

Str[Count]=toupper(Str[Count]);

else if(isdigit(Str[Count]))

Str[Count]=Str[Count]+1;

else Str[Count]=’*’; } }

void main( )

{

char Text[ ]=”DMAV Exam 2009”;

int Size = strlen(Text);

Convert(Text,Size);

cout<<Text<<endl;

for(int C=0,R=Size – 1;C<=Size/2;C++,R--)

{

char Temp=Text[C];

Text[C]=Text[R];

Text[R]=Temp;

}

cout<<Text<<endl; }

(e) What will be the output of the following program: 





(2) 

#include <iostream.h> 

void main( ) 

{ 

int varl=10, var2=20; 

for (int i=l; i<=2; i++) 

{ 

cout<<varl++<<‘\t’<<--var2<<endl; 

cout<<var2--<<‘\t’<<++varl<<endl; 

} 

} 

(f) 
In the following C++ program what is the expected value of MyMarks from  Options  (i) to (iv) given below. Justify answer.








(2) 

 
#include<stdlib.h > 

# include<iostream.h> 

void main ( ) 

{ 

randomize ( ); 

int Marks [ ]= {99, 92, 94, 96, 93, 95}, MyMarks; 

MyMarks = Marks [1 + random (2) ]; 

cout<<MyMarks<<endl; 

} 

(i) 99 (ii) 94  (iii) 96 (iv) None of the above

Q.2 (a) Differentiate between public and private visibility modes in context of Object Oriented  

Programming using a suitable example illustrating each.




(2)

(b)   Answer the questions (i) and (ii) after going through the following program: 

(2)

#include <iostream.h>

#include<string.h>

class bazaar

{ char Type[20] ;

char product [20];

int qty ;

float price ;

bazaar() //function 1

{

strcpy (type , “Electronic”) ;

strcpy (product , “calculator”);

qty=10;

price=225;

}

public :

void Disp() //function 2

{

cout<< type <<”-”<<product<<”:” <<qty<< “@” << price << endl ;

}};

void main ( )

{

Bazaar B ; //statement 1

B. disp() ; //statement 2

}

(i)Will statement 1 initialize all the data members for object B with the values given in the   

    Function 1 ? (YES OR NO). Justify your answer suggesting the correction(s) to be made

    in the above code.

ii) What shall be the possible output when the program gets executed? (Assuming, if required _ 

     the suggested correction(s) are made in the program).

(c) Define a class named ADMISSION in C++ with the following descriptions:


(4)
Private Members:

AD_NO integer (Ranges 10 – 2000)

NAME Array of characters (String)

CLASS Character

FEES Float

Public Members:

Function Read Data ( ) to read an object of ADMISSION type.

Function Display ( ) to display the details of an object.

Function Draw-Nos.( ) to choose 2 students randomly.

And display the details. Use random function to generate

Admission nos. to match with AD_NO.

(d)
Answer the questions (i) to (iv) based on the following:




(4)
class BANK

{

protected:


int Capital;

public:


void Get_data();


void Display();

};

class LOANS: public BANK

{

protected:


float House_L;


float Car_L;

public:


float Calc();


void show();

};

class FUNDS:protected LOANS

{

protected:


float Value;

public:


float Interest(int);

};

(i) List the names of data and functions inherited by class FUNDS.

(ii) Declare an array of objects with 30 elements of class LOANS.

(iii) Is the function Get_data() of class BANK accessible to objects of class LOANS?

(iv) Is the data member Value of class FUNDS accessible to objects of class FUNDS?

Q. 3
(a) Write a function sortscore in C++ to sort an array os structure Examinee in descending order  

                  of Score using Bubble Sort.







(3)


Structure-




Struct Examinee





{
long rollno;






Char name[20];






Float score;
};




Array before sorting-
	Rollno
	Name
	Score

	1001
	Ravi
	300

	1005
	Farida
	289

	1002
	Anika
	345

	1003
	George 
	297


Array after sorting-
	Rollno
	Name
	Score

	1002
	Anika
	345

	1001
	Ravi
	300

	1003
	George
	297

	1005
	Farida
	289


(b) An array A[50][20] is stored in the memory with each element occupying 4 bytes of storage. Find out the base address and address of element T[30][15],if an element T[25][10] is stored at the memory location 9800.








(4)
(c) Write a function Quedel( ) in C++ to display and delete an element , from a dynamically allocated Queue containing nodes  of the following structure :
        




 (3)
struct student

{


Int rollno;

char name[20];

student *link;

};
(d) Consider the following portion of a program , which implements a linked stack for Library . Write the definition of function PUSH(),to insert a new node in the stack with required information 



      








(2)
struct Library

{


int id;


char names[20];

};

class stack

{


Library *top;


public :

stack()


{


top=NULL;


}


void PUSH();


void POP();

};

(e) Evaluate the following postfix notation of expression :




(2)
25 
8 
3 
- 
/ 
6 
*
10 
+
Q.4    (a) Differentiate between function seekg( ) & seekp( ) with example.
 



(1)
           (b) Write a function in c++ to display those words present in a text file BOOK.TXT which starts with A.
(2)
          (c) Write a function in c++ to display the records of Palmolive company from a binary file “COMP” assuming 

                 that the file is containing the objects of the following class :





(3)





class COMPANY






{ int cno;






char name[25];






public:







void Enter( ){ cin>>cno; gets(model); }







void Display( ){ cout<<cno<<Name<<endl;} 

char * retname( ) { return name;} };

Q.5 

(a) Write the difference(s) between union & Cartesian product with example.


(2)
 


(b) Consider the tables ITEMS & COMPANY. Write SQL commands for the statements (i) to (iv) and                   

                                give the outputs for SQL queries (v) & (vi) .









Table : ITEMS
	ID
	PNAME
	PRICE
	MDATE
	QTY

	T001
	Soap
	12.00
	11/03/2007
	200

	T002
	Paste
	39.50
	23/12/2006
	55

	T003
	Deodorant
	125.00
	12/06/2007
	46

	T004
	Hair Oil
	28.75
	25/09/2007
	325

	T005
	Cold Cream
	66.00
	09/10/2007
	144

	T006
	Tooth Brush
	25.00
	17/02/2006
	455


Table : COMPANY
	ID
	COMP
	City

	T001
	HLL
	Mumbai

	T006
	Colgate
	Delhi

	T009
	HLL
	Mumbai

	T007
	Paras
	Haryana

	T005
	Ponds
	Noida

	T0011
	Wipro
	Ahmedabad


i) Display the items detail produced by Wipro & Paras.







1
ii) To display product name, company name & price for those items which IDs are equal to the IDs of company. 
1
   iii) To delete the items produced before 2007.   








1                           

iv) To display the total stock value of items.









1
v) SELECT COUNT(*) FROM ITEMS WHERE ITEMS.ID=COMPANY.ID;





1
vi) SELECT PNAME.MDATE FROM ITEMS WHERE PRICE=SELECT MIN(PRICE) FROM ITEMS;

1
Q.6
(a) State Absorption Law and verify the same using truth table. 





2 

(b) Prepare a Truth Table for X(Y1 + Z1) + X Y1 







1
(c) Draw the Logical circuit of the following expression Y=ab+b1 c+c1a1




2
(d) Reduce the following Boolean expression using K-Map: 





3 

F(A, B, C, D) = ∑(0,2,4,5,7,8,10,12,13,,15)
Q.7
(a)
Compare any two Switching techniques. 







1

(b)
 Which of the following is not a Client Side script: 






1

(i) VB Script (ii) Java Script (iii) ASP (iv) PHP

(c) If someone has hacked your Website, to whom you lodge the Complain? 



1

(d) What do you mean by IP Address? How is it useful in Computer Security? 



1
( e) A company in Reliance has 4 wings of buildings as shown in the diagram:



[image: image1]

  Center to center distances between various Buildings:



W3 to W1


50m



W1 to W2


60m



W2 to W4 


25m



W4 to W3 


170m



W3 to W2


125m



W1 to w4


90m

   

  Number of computers in each of the wing:

    

W1

150 ,

W2

15 ,

W3

15,

W4

25

Computers in each wing are networked but wings are not networked. The company has now 
decided to connect the wings also.

i) Suggest a most suitable cable layout & topology of the connection between the wings.  
(1)
ii) The company wants internet accessibility in all the wings. Suggest an economic technology. (1]

iii) Suggest the placement of the following devices with justification if the company 

 
 
    wants minimized network traffic  :







(1)



1) Repeater



2) Hub 




3) Switch




4) Bridge
iv) The company is planning to link its head office situated in India with the offices at Reliance. Suggest a way to connect it; the company does not want to compromise with the speed of connectivity. Justify   your answer.







(1)
(f) What do you mean by Spam Mails? How can you protect your mailbox from Spams? 

(1)

(g) Mention any two advantages of Open Source Software over Proprietary Software?

(1)
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